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B2.
a=2 x=1
a=6 x=3
b=2
B3.
def SYN(x):
if x<10:
y=2*x
else:
y=3*x

returny

B4.

s=0

i=1

while i<10:
S=Ss +i
prints
i=i+2

prints

OEMAT

fortiga=0
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epiv=0
moto=0
sf=0
se=0
sm=0
meli=0
mimeli=0
# epwtnua 'l
typos=raw_input(‘6woe tumo oxnuarog’)
while typos!= “TELOS”:
melos=raw_input(‘eivaw péAog;NAI/OXI’)
if melos=="NAI":
meli=meli+1 # ywa epwtnua M4
if typos=="F":
fortiga=fortiga+1 # ywa epwtnua 3
cost=70
sf=sf + cost # ywa epwtnpna 3
elif typos=="E":
epiv=epiv+1 # yia epwtnua 3
cost=40
se=se + cost # ywa epwtnua 3
else:
moto=moto+1 # yia epwtnpa 3

cost=25
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sm=sm + cost # yia epwtnpa 3
else:

mimeli=mimeli+1 # ywa epwtnpa r4

if typos=="F":
fortiga=fortiga+1 # yia epwtnua 3
cost=80
sf=sf + cost # yia epwtnpa 3
elif typos=="E":
epiv=epiv+1 # yia epwtnua 3
cost=50
se=se + cost # yLa epwtnua 3
else:
moto=moto+1 # yia epwtnpa 3
cost=30
sm=sm + cost # yia epwtnua 3
typos=raw_input(“dwoe tumo oxnuatog”’)
# Epwtnua N2
print(“@optnya”, fortiga, sf)
print (“EmBatikd”, epiv, se)
print (“MotooukAéteg”, moto, sm)
# epwtnua 3
print (“ NARGo¢ 6Awv”, fortiga + epiv+ moto)

print(“ ZuvoAiko nooo eionpaéng”, sf+se+sm)
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# epwtnua 4
print(“MéAn”, meli, “Mn péAn”, mimeli)

OEMA A

VATHMOS=[]

NAME=(]

for i in range(50):
n=raw_input(“6woe dvopa”)
NAME.append(n)
v=int(input(‘Awoe Babua:’)
whilev<lorv>10:

v=int(input(‘Awote ava Badbuo:’)

VATHMOS.append(v)

# epwtnpoa A2

s=0.0

for number in VATHMOS :
s=s + number

mo=s / 50

print(‘Méoog 6poc BaBpoloyiag padntwv:’, mo)

# epwtnpa A3

foriinrange(50) :

if VATHMOSJ[i] >=mo :
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print(‘ovopa padntr:’, NAME[i], ‘Baduoc:’, VATHMOS]i])
# epwtnua A4
max=VATHMOS|0]
for number in VATHMOS :

if number > max :

max=number
print(‘MeyaAUtepn Baduoloyia:’, max)
foriinrange(50) :
if max = VATHMOS[i] :

print(‘MaBntég pe tnv peyaAitepn Badpoloyia:’, NAME[i])

. (ppovuotpia

~ | noukapiods TeMda 6 and 6




